05 01 11

G

13,801 13,875 0| 16| 0 0.11
R R
R
49 57 63
X
7 83 88
23 47 100




H30 |H31 [R02 [RO3 [RO4

A13-001 L=510m [ B BN BN B 283

[ 1] 283
A07-002 ] ] ] ] ] 1,760
A07-003 ] ] ] ] ] 1,744
A07-004 [ BN BN B B 972
A07-005 [ BN BN B B 274
A07-006 [ BN BN B B 740




H30 |H31 [R02 [RO3 [RO4

A07-007 [ I B A B | 164
A07-008 [ I B A B | 270
A07-009 [ I B A B | 0
A07-010 " == 28
A07-011 n n n n n 4,738
A07-012 [ I B A B | 782




H30 |H31 [R02 [RO3 [RO4

A07-013 n n [ [ n 127
A07-014 |-|-|-|-|-| 180|
A07-015 |-|-|-|-|-| 751|
A07-016 |-|-|-|-|-| 5|
A07-017 m = 430
A07-018 . 37
A07-019 . 95




H30 |H31 [R02 [RO3 [RO4

A07-020 L=14 LI I 401
. 7km

A07-021 [ I 86

A07-022 ] ] 8

| N 13,592

13,875|




H30 |H31 [R02 [RO3 [RO4

C07-001

16







H30 H31 RO2 RO3 RO4
@) 1,399 1,271 1,476 1,222 1,303

() 0 47 0 0 0

(c=a+h) 1,399 1,318 1,476 1,222 1,303
(d) 0 549 610 974 566

) 850 1,257 1,112 1,630 1,033

) 549 610 974 566 836

223 53 89 66 262

(h = ct+d-e-f) 0 0 0 0 0
(i = (g+h)/(c+d)) 15.93 2.83 4.26 3 14.01
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